& VALENCE PRIMARY SCHOOL KS1 Maths Challenge: December 2024
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Complete the bar model to show 8 x 6 =.
p

Challenge #3

j Choose a challenge to solve -
Can you solve more than one?

_ Challenge #1
Challenge #2

9 Sort the shapes into the hoops. Each box contains 10 eggs.
One has been done for you.

Creative Challenge
Can you decorate the Christmas

tree with as many different
2D shapes as you know?

How many eggs are there altogether?

eggs

i__ P . - .
. ) Can you write the addition or the multiplication
Can you think of another object that sentence for this picture?

could go in the hoops?
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